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SARDAR PATEL UNIVERSITY :
B.Sc.( SEMESTER I ) EXAMINATION
Monday , 2" Dec., 2013
USO01EMTHO02
(MATHEMATICS)

Time : 02.30 p.m. to 04.30 p.m. Maximum Marks:70

Que.1 Fill in the blanks. 10
(1) f:N—= N defined by f(z) =2z + 1. then Ry = ....coovvnviiiinnn
(@) {(1357.) {3579} ({2468} (d){369,12,..}

(2) If f : N - N defined by f(z) = 22+ 1 and g : N = N defined by g(z) = z3 then
fog(z) = i

(a)z84+1 (b)2°+1 (c)2® (d) None of these
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(7) If A is skew symmetric matrix then AT = ...
(@ —-A () A (¢) A"' (d) None of these

(8) If T = (cosa,sina),y = (cosB,sinp) then [Z| + [ = .cccoovvvnrirnnnnn.
(@ 1 () 0 (¢) 2 (d =1

(9) (1,0,0) x (0,1,0) = ..ovovrrerrrrrirrrnn.

(a)(1,0,0) (b) (0,1,0) (c) (0,0,1) (d) None of these




Que.2 Answer the following ( Any ten )
(1) If f:R =R defined by f(z) =2z? — 2z + 3 then ﬁnd fof .
(2) Find o € C which satisfy the equation (—4,6) — = (3,7) .
(3) Solve the equation 2m(a: —7) =3(2 - a:) .
(4) Prove that 1+ tan?§ = sec? .
(5) Check that whether sin141° + cos 141° is positive or negative .
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(M) I A= [é _21] , B= [Z ‘03] then find BA .

r

(8) A= [_Slcr:)g 9 g?; gJ then prove that A™1 = AT ,
(9) Prove that
a b c

b c a
a+b b+c c+a

=0.

(10) Ifz=(3,2,1), = (1,5,6) then find 37 ~ 47 .
(11) f2=(1,2,3), §=(~1,3,5) then ind Tx 7 .

(12) Solve the equation z(1,2) +y(2,1) =(3,3) .

Que.3 (a) Let f:N— N defined by f(z)=2z—1.Is fone-one? Is fonto? . Check it .

(b) Find conjugate and Modulus of (3 — 7i)? .

OR

Que.3 (a) Iff:R >R defined by f(z)=2+z2+1,9:R— R defined byg(z) =z~ 1 and
h:R =R defined by h(z) = 2z then find fog, foh, (fog)oh .

(b) Solve the equation (3 + z)2 =4z — 1.

Que.d (a) Solve the equation log2 + log(z + 2) — log(3z — 5) = log3 .

1—tanf\® 1+ tan’f
l1—cotf/) — 14cot?f "

(b) Prove that (

‘ OR
Que.d (a) If cos0 — sin@ = 4/2sin 6, then prove that cosé +sinf = /2cosf .

(b) Prove that sin (%) cos (%) + cos (%) sin (%) =1. .
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Que.5 (a) Prove that
2,2 L2
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=-(z-y)(y-2)(z - z).
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(b) If A= [1 3]  B= [1 4] then check (AB)T = BTAT |

2 4 25
: OR
Que.5 (a) Prove that
62 8% 10?
72 247 25% =0.
92 402 - 412

(b) Solve the equations 2z + 3y — 8 = 0; 5z — 4y + 3 = 0 by using Cramer’s rule .
Que6 (a) Ifz=(1,1,2),7=(1,2,1), Z=(2,1,1) then find T x (g x ) .
(b) If = (a,3,~2), ¥ = (a, —a,2) are orthogonal then find a .

‘ OR
Que.6 (a) Evaluate (1,2,3)-((2,3,4) x (=1,2,=3)) .

(b) If the measure of the angle between i+ /3 7 and v/3 7 + aj is /3 then find a .
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